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9. Question numbers 34 to 36 in Section-B are questions based on practical skills are two
marks questions.

HIAT-H / SECTION-A

FehIYT HYSTYOT KT qfesmy i | :

Define photosynthesis.

39 uig 1 T fafae s foga acw %1 9 97 F foe wan § ond st &)

Name the metal which is used for making filament of electric bulb.

R e #t uftvm fafaa

_What is a solar panel ?

s Tt w7 ww A ume W e s €, @ @ Al wfufEa #) ool & g
TErAfT et fafan )

What is baking powder ? Write chemical equation of the reaction involved when baking
powder is heated.

S (T areft) A # AR F wa B gen @A W sEd N a1 uieds w1 Seerw Fifw) 39
uiterda & € st sifufirar 1 gfera wamat gt fafaa

State the change that occurs when an iron nail is left exposed to humid air. Write also the
balanced chemical equation for the reaction that occurs.

(i)  FerErRE ¥ TgEY WAEG R a9 96 § SE e 9 awd & T fafan |

(i) wRaF @ v o A Am fafew) g Ut g et efae 6w @ s A A
T S &2
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(i) Name the hormones that are released in human males and females when they reach
puberty. '

(i)  Name a gland associated with brain. Which problem is caused due to the deficiency of
the hormone released by this gland ?

7 Frefated # fade R 3
@ o % g iR e it safufear '
(i) o e st faft (v O e Wi 1)
(i) oI Ao STUTY F ST FI TF ToIH Hl TH SR Aed |
Differentiate between the following :

A Reaction of magnesium and calcium with water.

/(i:l’j Roasting and calcination processes glvmg an example of each.

9, Nature of metal and non metal oxides with an example.

4 T 9 % 91 F1 oo AR ¥ faeem A e fam wn @ 3w A frn @ i faeaa e 3
T8 TR

(@) . HEo H wHEE |
() 8 RedE % ford W wamEfes g fated |

When a copper wir€ is left in silver nitrate solution, it is observed that the solution turns
bluish green.

_A4)  Explain the observation :
,(b)/ Write the balanced chemical equation to fepresent the change taking place.
9 T for sl W' @ H () T OH-(aneamTﬁmﬁqﬁaﬁﬂﬁpH%mmﬁsﬁmmﬁ'& 3
@)  oTlE qd aREE wEh A 9fs

- (i) H* 379 @t gigar ¥ g @ &
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Indicate with the help of a diagram the variation of pH with change in concentration of H* (5
/ and OH"(, ion showing :

//(()/ Increase of acidic and basic nature

Increase and decrease of H* ion concentration

/maﬁmﬁaﬂﬁ‘mmeﬂiwﬁwﬁgﬁgw?ﬁaﬂmamaﬁwa@wﬁw 3
¥ e 39 @ 2 fam R @ e @ ) sad e 3 s e fed A

aw fafifa seag o fafed 1 = @ & a3 <Al W o s 2
Rama wanted her house to be whitewashed. She bought some quicklime from the market and

dissolved. It in water in a big tub. She noticed that the container became hot without any heating.

Give reason for her observation with equation and name the product formed. What happens when it
is applied on the walls ?

1 ﬁﬁﬁﬂhﬁﬂ%ﬁf%wﬁfmﬁﬁﬁaﬁ%mr@ﬁ%ﬁmmtsﬁﬁmﬁtm 3
&1 wftra faa Sifsa

Name three life processes which are essential for maintaining life and briefly explain the
functioning of any one of them.

y/uﬁaﬁ-ﬁmsﬁtmﬁaﬁé?ﬂqmmn 3

Write three points of difference between reflex action and walking.

//w@ﬁmﬁmﬁm%wmmmmwﬁnm‘m%? 3

Explain how the products of photosynthesis and other substances are translocated in plants ?

P mww-ﬁmﬁmm'mmﬁm%? "3 & Y] o T w3
&1 wiese & 3l ' 79 FUA F HR gfea g Fifag

How are magnetic field lines of a bar magnet drawn. “Two field lines are never found to
intersect each other”. Give reason to justify this statement. .
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//mmmq@%wmwmmm%mmmmamaﬁwa ;
ot T R forelt diferst wfe seror A (wer ) g @ wfvew R @ eIk frgg ur vt
AT 1 T8 AR Y T gl W Rera 2 fargal, A a7 S A9 B AW ¥ A, @ fram i
R S HA] FHITY T A 19a1 B | feg R g &1 st g
Horizontal component of earth’s magnetic field at a place is uniform and its direction is from
south to north. A high current through a horizontal power line flows at this place from east to

west. Consider two points A and B at equal distances from thé wire, respectively above and
below it. Giving reason explain where is the field more - at A or at B.

| _/ﬁﬁm%ﬁmWWﬁaﬁwaﬁﬁwﬁ'ﬁﬁmmﬁma
: 100 V fa9a=R % 3@ 5 mC 99 A1 @ § foran o #1 wiefem it

Express work done in an electric field in terms of charge and potential difference. Calculate
the amount of work done in carrying a charge of 5 mC against a potential difference of 100 V.

17 o 3 e e o S Farrers % R ¥ w1 R Rt o e et w21 e vw e 3
W SHHR ST e TGS H) 4, Foey wrord | w9 9 § 9| w1 | maﬁﬁgiﬁ?ﬂdmﬁﬁl_

(i) ‘mﬁﬁméa@mmwﬁmaﬁl AR g g ?

@) o on = fafsa 01 & wRo i B samE a9 y=E 2R v faet?

(iii) ﬁmﬁmmmmmmﬁmmmﬁ?_

Kritika observed that the tube lights in the corridor of her school were alway;s switched on the

whole day. She brought the matter to the notice of her class teacher who talked to the
Principal about it. The Principal took immediate action.

A4y Krtitika helped in a way to reduce air pollution. Explain. How ?
/(iﬂ/ Kritika was appreciated by the teachers and the principal for portraying which values
?

y)/How can the consumption of electricity be reduced in a school ?

y’wﬁ:Waﬁw?ﬁwﬁmmm%#ﬁmﬁmwm%?ﬁwmmwﬁqﬁﬁ 3
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it &rdl i fawa i w6 Ty ?

8y can neither be created nor destroyed, explain with an example as to why we should worry
about our energy resources ?

//a) A & A H e ¥ W dten g A6 dran) ata ¥ ufvsor & fafy % sgren w193 5
fafy =1 wmfera fa= @ifed |

(b) . Fr= sfufmasit & fog vamfe g fafas .
() T dewEe F1ag ¥ 55 |
(i)  foiw wmEiTe = Frama )

(a) Copper produced by heating the ore in air is not very pure. Describe the method used
f_o.rﬁefxrung impure copper. Draw labelled chagram of the process.

/(j( Write chemical equations for the reactions taking place when ;

/ Zinc sulphide is heated in air.

/ Zinc carbonate is calcined.
/(aa/ﬁn sfufirst &1 saee fFa mn 5

CuSO4 +Zn—> ZnSO4 +Cu
/iif/BZnSO,;-i- 2A1 - Aly (SO4), +3Zn
i 2AgN63 +Cu - Cu(NO3 ), + 2Ag
i, Zn, AL Ag 3 3T W & e 5 4 s F
/Lbj/q;-%mvfﬁamﬁmﬂaﬁmaﬁﬁrﬁaﬁsﬁma@ﬁ%:
@ fEEd (i) g F v R

(@).  The following reactions are observed to occur :

P/CUSO.; +Zn— ZnSO4+Cu
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/,1} 3ZnSP; + 2A1 - Al (S04), + 3Zn
/(ﬁ 2AgNO; + Cu - Cu(NO3), + 2Ag
Arrange Cu, Zn, Al and Ag in decreasing order of their reactivity.

/(ﬁ{ Write one example each of decomposition reaction carried out with the help of :

A electricity /(ﬁ’) sunlight

21 (@)  Wicrercil fpan st s <ifSq) s&eh wee fefe)
(b)  URY fory YRR =TI SETA * Wi SgfRar Fd €2

#

s

/)i(-))/{)eﬁne reflex action. State its significance.

How do plants respond to external stimuli ?

2 (@) fE uREE TR F O U F R SR 79 9R1 SR S s 6 @ wita )

(b) Seor@ Fifag i S & oiftafadl | gt o 8 fega B Tew w1 @ e o W
HI9E HOM?

O e e e R s d 4
.(ii) U V] S &1 i & @il F gu=R i wTa T
(ili) U FO GEAEA & F & el % wrEad 1 e E
Yeleh YUl W9 SR I S0 giga gfe sifeg

}/ Draw the magnetic field lines through and around a single loop of wire carrying
electric current.

@ State whether an alpha particle will experience any force in a ﬁlaglletic field if :
@)  itis placed in the field at rest.
(i) it moves in the magnetic field parallel to field lines.

(iii) it moves in the magnetic field perpendicular to field lines. Justify your
answer in each case.
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7/

3im =1 fram fafaw ) 39 fram = duar % foe smEves o fafau) & frm =1 yrdifies gemeE 5
fore wohr fohan s €7 fonelt werss & forg favarat @ik fage uw & =9 e =t wfa @ 2nit 2
59 % 5R1 59 sifos uftr 61 s foran st @ swe A fafian)

State Ohm'’s law. Write the necessary condition for its validity. How is this law verified
————— 3 —_— y ,

experimentally ? What will be the nature of graph between potential difference and current
for a conductor ? Name the physical quantity that can be determined from this graph.

//a‘huﬁfruﬁ,ﬁq&wﬁmaRl,RzamRS%,%mﬂﬁaﬁmmﬁwuﬁﬂuRﬁuﬁam%m 5
Hey wnfa i |

ﬁﬁﬂ’fﬁgﬁqﬁwﬁmuﬁlﬂ%nﬁwﬁﬂﬁqwmﬁ%a A SRB & o= vy vl
Hifsa |

c
d 80 e

Establish a relationship to determine the equivalent resistance R of a combination of three
resistors having resistances R,, Ry and R4 connected in parallel.

Three resistors are connected in an electrical circuit as shown. Calculate the resistance

between A and B.
a b C
i
d 80} e :

UTT-& / SECTION - B

/25/ T B A et &R & pH 1 Thew w0 ¥ fore 39 s B g ¥ ol e foed eR 1 1

34 € slidel I wfen fred €@ -

(@@ HC (b) NaOH

(¢) ~HNOs (d) ZnCh

A student was asked to pick a bottle of alkali for testing its pH. He should chose the bottle
that contains :

(@) HC ()  NaOH

_\gg\;
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()  HNOs (d  ZnCl

y/ﬁwﬁ?ﬂsﬁwwﬁ%@%miaﬁmﬁ@ﬁﬂﬁwﬁ%m@ﬁﬁmm 1

a'q'r -
(i)  wifem s (i) Hfeam FEke
() Hfsa i (v) e aegioase

(@ @) (i) (b) (i), (i)
© (i), (iv) (d) (i) (i) :
A burning candle will not extinguish if it is brought near the mouth of a test tube containing

an acid and :
() sodium chloride (i)  sodium carbonate
(i)  sodium bicarbonate (iv)  sodium hydroxide

@ () (i) (b) (i), (i)
(© (i), (iv) @ () @v)

y/ T 91 M 51 % SR & =9 wfFg sﬁ@mmmm%ﬁmﬁr@w% ¥ 1
eqT e & 5 -
(@) T T AR O YU SEET fowr
() FEEwEwmd s
()  foorEa =1 Hien (1 ST S & |
(@) fooEa & T F B oftads 78 o
A metal M, which is less reactive than copper is placed in copper sulphate by a student, He
observed that :
(a) reddish brown precipitate appears after some time
(b) The colour of the solution changes to green

\
(s
(c) the blue colour ef the solution fades away ol
(d)  no change in colour of the solution occurs S

M@#mw&ﬁ&&qoﬁﬁqﬁﬁﬂn#gﬁmmﬁﬁaﬁmﬁmﬂm% 1
v # e g R e w1t G g 1 werferdl & @@ ufeds M gana ¥
o ﬁ\;"’l {.u Soy

Dos o

FeSO,
solution

Page 9 of 13




@ AFRC (b) ASRB

© B3RC (d C3IWD

Rinku took aluminium pieces added those pieces in four test tubes
A, B, C, D containing solutions as shown in figure. He observed decolourisation in two test
tubes. In which test tube was the change observed ?

~

() AandB

() BandC (d CandD

)/uﬂﬁm%wﬁﬂﬁwu@aﬁaﬁuﬁﬁaﬁﬁ%aacﬁmﬁmwmragsaﬁﬁmﬁam 1
I G HEAT =rea 9l Tafem 39 Yo% uig # gEd oy o § sffew w0 SE gam
IERIRETE

C+BZ—-»CZ+B

A+CZ—-AZ+C

o8 Tt Frepd Freproran ® TR oo foramedterar &

@@ A>B>C ~ () C>B>A

(c) A>C>B d B>A>C

Prathamesh had three different metal strips labelled A, B and C. He was curious to compare
their reactivity so he carried out displacement reaction between one metal and salt of the other
and observed that .

C+BZ—-CZ+B

A+ CZ—-AZ + C

The correct conclusion would be that in relative reactivity :
(@ A>B>C (b) C>B>A

(c) A>C>B (d B>A>C

/3/ Mwﬁaﬁﬁa&rgﬁtﬂuﬁmwma2oﬂ%|qﬁwﬁﬁﬂmﬁluﬁﬁuloﬂ%'?h§ai 1
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gfaierer ST wiais & :

(@  20Q (b) 10Q@ () 500 (d) 40Q

The equivalent resistance of a series combination of two resistors is 20 Q. If one of the
resistor is 10 O ,the other resistor will be of :

@ 200 (b) 100 (¢ 500 (d) 400

31 wwﬁm%%uﬁﬂaﬁ%wﬁﬁmwwﬁamﬁmmmﬁaw%
/ TR TF SR THA SRR F 36 GRS § g § e faan) s e el -

(a) e W@ ‘
(b)  EE ST
(c) oG S |

(dy =T A S HRAT |
A student was measuring equivalent resistance of two equal resistancs joined in
parallel. His teacher joined one more resistance of same value in the parallel
combination. Now net resistence will-

(@) remainsame

(b)  decrease

(c)  increase

(d)  not be measurable

}/mﬁmﬁ&amﬁ ¥ forg e 1 T T E —
(@) 10128 T@H () 1012 fEH
© 2:RfEH (d 29RT@H

Leaves are destarchéd by keeping the plant in :
(@) 10-12 hours in night (b) 10-12 hours in day

()  2hours in sunlight (d)  2hours in night

%ﬂm%aﬁmcoﬁmﬁh?ﬁ%wﬁ%mﬁshmmﬁﬁsﬂwmé%:
(A) i STl e = |
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(B) WIS H dS Yk E4 e

() frome et 9@ & S T =fed |

(D) @t fiffa KOH faeram =) 912t 7eft werress # wartt feq |
(@)  (A)T(B) (b)  (A)(B) 7 (C)

© (&) ©7F=(D) d  (A)F(D)

Mention the precautions to be taken for successful performance of experiment to show that
COzis given out during respiration :

B

J (A)  Cork should be air tight
(B)  .Seeds in the flask should be dry
(C)  The delivery tube should be above water

(D)  The small tube with freshly prepared KOH solution should be placed in the flask

(@)  (A)and (B) (b)  (A)(B) and (C)
(©  (A)(© and (D) (d)  (A)and (D)
}/ ot wErTeen § = & T WA Suesy € : 2

o gethe, g acthe, Afan sigs, difeam gethe for @ <

Y fed 7 wor & sfufraell &1 sivrae e & ford wam & fod suge WAl & =gE Fifa
@ W () o

i) femw (v) fofreae

The following chemicals are available in a laboratory : _

Copper sulphate, Ferrous-sulphate, Barium-chleside, goi:lium,su_lp_@gluick-hme.

Select appropriate chemicals to perform the experiment to study- the foﬂowiﬁg reactions :

(i)  Combination (ii) Decombosifion

(iii)  Displacement (iv)  Double Displacement

/@uﬁmmmmmﬂﬁm%nﬁ%ﬁﬁrﬁaawmﬁﬁmﬁﬂnﬁuw 2
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While doing an experiment of Ohm’s law if you find that the deflection on the ammeter or
voltmeter scale goes beyond the full scale, what would you mfer ? What would you infer if
you find that the deflection is in opposite dlrectxon ?

/36’ ﬁaﬁﬁ%&ﬁwmﬁaﬁwﬂm,ﬁaﬁﬁﬁq%wmﬁ%wmm|

Write correct sequence of four steps of method for the preparation of temporary mount of a
stained leaf peel.

-0000000-
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